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Ouestion 1: (30 Marks) ; Choose the correct answer (write your answers in the table below) :

IU. The set ofpoints {(-1,3), (2,3),(2,9),(0,5)} is:

A) Not Function B) Function c) one-to-one D) None of them

I2l. The domain of the tunction f (x) - # ir,

A) R - {-1,L} B) R - {0, -1} C) R - {1,i.} D) None of them

I3l. The correct simplification tot'J g*rt equal :

A)2x3y6 B)2x2y3 C)2xy2 D)2x2y6

t4l. Thevertex of the function f (x) - x2 - 2x * 3 is:

A) (-1,2) B) (1,2) C) (1,3; D) (-1,3)

l5l. Let f = {(1,3), (2,0),(3,1), (-1,2)}, then f (2) equal:

A) 1 B) :1 C) 0 D) None of them

16l. The y-intercepts of the funcrion y - (x + I)z * 3 equal:

A)3 B)-3 C)-4 D)++

I7l. The value of logr(64) equal:

A)r-B B)x-4 C) x - 6 D) None of them

lSl. It f (x) = 3(x+r), then f (2) equal:

A) 27 c) -e -1D);B)e

lel. "I'{ ?] = [-rt , L] , then the value of x and y when are equal.

D]=-3,!=0 B)x=3,!=-2 C)x--3,y- -2 D)x-3,!=2

[10].

A)6

rc ,q =faz l1], flr.n l.4l equal:

B) -4 c)4 D) None of them

Question I 2 3 4 5 6 7 8 9 l0

Answer A D B B C D C A A A



Ouestion 3: (20 Marks)

Let f (x) - F and g(x) - 2x 1- 1. Find each of the following:

1) Domain f (x)-/ ------.---r \.-) bt r-t >lo 3

x 7l
Dornai"'=V',o) P 2-

2)(f.s)(L) = Ftt) - lLt)

1ffi .Q-rtf)

= o '3
1-
J*

3) (f " s)(2)

4) g-t (x) 

-+

F Ltt4)
( z'z+t) l-r

l-
=

n:l'

P (:)
G. =a

ffrl: z x +l

H =zx+l
x_ =LZ +l

-R-f = 2 
U

)c- |

2

\-+ 
3

l2
-l

=YC
r-l

?t-) =



Ouestion 4: (20 Marks) = V +7 + 6

1) Let o =l!,
a) A+28

each of the following:
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Ouestion 5: (10 Marks)

use cramer's Rule to solve the system (Find only the value ofr):
2x-y*z-0

2x*y-Zz--4
x+Y-z:-3
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D =G2+z+2)-(t-4+z)
= 2 +l

D=E
D= lir>i 4,| I I
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)C =-l
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Good Luck 4is:lq 79 wts: 6.


